AVERAGE (31q)

TYPE
Find the average of 30, 33, 37, 41, 557
30, 33, 37, 41, 55 FT T ATq F1?
(A)13 (B)15
(D)19

Find the average of 300, 313, 370, 416, 5157
300, 313, 370, 416, 515 T 3iHFd ATT FL?
(A)13 (B)15 (C)14
(D)19

TYPE
If the average score of 42 boys of a school is
137. While the average score of 98 girls is
124 of the same class. Find the combined

average of the class?

Tz oFeft o5 & 42 ==t &7 ofvq 137 8 | Siaf+
98 w=THat 7 3fEd 124 & | 97 T Fer &7 sied
T L2

(A)127.9 (B)128.9 (C)129.9
(D)130.9

If the average score of 39 boys of a school is
79. While the average score of 52 girls 70 of
the same class. Find the combined average of
the class?
gz et =5 ® 39 @=Hl F Fq F 79 T |
St 52 AT % a0 70 g | a1 T FET
T ST ATT H3?
(A)73.50 (B)73.86 (C)74.86
(D)130.9

TYPE

. The average weight of A, B and C is 45 kg. if

the average weight of A and B be 40kg and
that of B and C be 43kg. then the weight of B

IS:

A, B ST C &1 3feq aoi9 45 kg g | Tfx A 72T B
T e a9 40 kg BT T9T B 9T C 7 3i¥q
T 43 kg 27 a7 B T a9 Foha«T grm?

(A)11 (B)21
(D)none
TYPE

. The average of 9 observations is 87. If the

average of first five observations is 79 and the
average of next three is 92. Find the 9t

observation?
9 SATFwET & A 87 ¥, AR TgdA 5 AHST HT
dET 79 T 3T 3 ATKST &7 9 92 7, @r 9 AT
SATHET AT FL?
(A)110 (B)112 (C)114
(D)115

TYPE

. 5 year ago the average age of husband and

wife was 23years today the average age of
husband, wife and child is 20 years. How old

is the child?

5 a9 qgel 9T, Tw T @l $Ed g 23 a9 off qT
AT OTd, Tl q 39 ag il ofed g 20 99 2 |
qr ag fT 39 T FL?

(A)2year (B)4 years

(D)6 years

(C) 5 years

. 3 years ago the average. age of family of five

members was 17 years. A baby have been
born, the average of the family is the same

today. Find the age of the child?
3 qY Ug 5 FARRAT & qAT &l Sieq g 17
Fu ot | T IRE™ ¥ U ag 7 5 o qur ey
AT 39 IRETE &7 39q 397 &t & | a7 g it oy
ST FL?
(A)2years (B)3 years (C) 4 years
(D)5 years

TYPE
In an examination the average of 40 students
is 72. Afterwards it is found that the marks of
three students are mistakenly calculated as
68, 75, and 73 instead of 64,62,and 84

respectively . Find the correct average?

T ohearH 40 T F eima dF 72 IS H T
ST g1 AT 3 AT 6 i &l AT & 64, 62 ¥




AVERAGE (31q)

84 F Tl 68, 65 3T 73 form foar T g I Av
TET 3EdT AT Fe?
(A)72.1 (B)73.1 (C)74.1
(D)75.1
TYPE
. A batsman scores 87 runs in his 17t innings,
due to this his average increased by 3 runs,

find his current average?

UF Fodarsl 17 &F oty § 87 ¥ F«rar g orew
ITHT FedaTSit ofed 3 7 IfF 9 9 S7ar 2 |
qT FIT SAad ST FL?

(A)35 (B)36 (C)38
(D)39

.A batman has certain average in his 11
innings. He scores 90 runs in 12t innings, due

to this his average decreased by 5 runs?

T Fedars w11 ot § [ aecErst
dEd g T 1297 9T § 90 T FATqT aF 3Ed 5
gfer 9 =72 STaT g 1 v 1240 9 F o d § S
1T FL?

(A) 145 (B)150 (C)155
(D)160

TYPE

12. The average weight of 8 persons is increased

by 2.5kg when one of them who weights 56 kg
is replaced by a new man. Find the weight of

new man?
8 =rfFart 1 3 a9 2.5 kg 9 ST § 59 56
kg FT TF =AT<h T SWTg 74T <k o S7ar g | av
U SAT<H T A ST H37
(A)70kg (B)74kg  (C)76kg

(D)none

. The average weight of 10 persons is
decreased by 2.kg when one of them who
weights 60 kg is replaced by a new man. Find
the weight of new man?

10 =T<RIT & TF T | & 60kg FT T AT<h 9T

SITAT & AT 39k €ATH IT ek 94T SAT<h o J7dT &
| Foreer 0T 3fEd 2 & &/ gl 94T ¢ | a9 97
TR T AT AT 12

(A)40kg (B)74kg (C)76kg
(D)none
TYPE

14. The average age of 40 students is 18years. If

20 new students include in this class, average
age is increased by 6 months. Find the

average age of new students?

7fT 40 AT # ofwd g 18 a9 g | 7fz 20 91
I THT FAT | AT B § AT WAL A A
A 6 WET F T B ST 2 | AT S = Ay
ST A FATT FL?

(A)27 (B)37 (C)19.5

(D)none

. The average age of 24 boys and one teacher

is 15 years. If teacher is leave the group so

average is decreased by 1 year. Find the age

of teacher ?

24 A= AT IAH e i gieatora shEa oy

15 T g | af foreqss 67 39 A7 o § & geran
SO AT S 1 99 F =92 Arar 8 | forersw f 3w

ST F37?
(A)27 (B)37 (C)39

(D)none

. The average age of 12 players 25 years. If

captain joins the group so average is

increased by 1 year. Find the age of captain?

Tfz 12 faenfat 6t sfma 3w 25 av g | 7f
F1 1 39 F1 Y erfier BT stro av siea s 1
T qE ATAT & | FATT T T AT F4?

(A)27 (B)37 (C)38

(d)none
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